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Coordinate geometry 
 
In coordinate geometry a point is indicated by a set of coordinates (𝑥𝑥,𝑦𝑦), where the 𝑥𝑥-value 
gives the location on the 𝑥𝑥-axis and the 𝑦𝑦-value the location with respect to the 𝑦𝑦-axis.  
 
   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Distance formula 
 
The distance between two points ( )11 , yx  and ( )22 , yx is given by 
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Midpoint formula 
 
The midpoint of the line segment joining two points ( )11 , yx  and ( )22 , yx , is  
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Perpendicular distance 
 
The perpendicular distance between the line 0=++ CByAx and the point ( )11 , yx  is 
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The two axes cross at (0, 0), which is 
called the origin. 
 
(3, 2) refers to the point 3 units to the 
right of the origin and 2 units up from the 
origin. 
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Examples 
1) Find the distance between (5,−1) and (10, 4). 
 
 Label the points (5,−1) (10, 4) then substitue into the formula. 
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2) Find the midpoint of the line segment joining (5, -3) and (6, -11). 

 
Label the points (5,−3)  (6, -11).then substitue into the formula. 
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3) Find the perpendicular distance between the line 0432 =+− yx and the point (7, 2). 
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Substituting the values 
𝐴𝐴 = 2 
𝐵𝐵 = −3 
𝐶𝐶 = 4 

 
(𝑥𝑥1,𝑦𝑦1) 
(7, 2) 

 

 
Exercises 
1) Find the distance between the points (4,−2) and (−3, 5). 
 
2)  Find the midpoint of the line segment joining the points (3,−1) and (11, 7). 
 
3)  Find the perpendicular distance between the point (2, 8) and the line 0426 =−+ yx . 
 
4)  Find the coordinates of the centre of a square with vertices at coordinates 
  (−3,−1), (5,−1), (−3, 7) and (5, 7).  

(Hint: The diagonals of the square will cross at the centre. Graph the square.) 
 
Answers  1)  9.9   2) (7, 3)  3) 3.8   4) (1, 3) 

(𝑥𝑥1, 𝑦𝑦1) (𝑥𝑥2, 𝑦𝑦2) 

(𝑥𝑥1, 𝑦𝑦1) (𝑥𝑥2, 𝑦𝑦2) 
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